EECS2011 Fundamentals of Data Structures
(Winter 2022)

Q&A - Week 2 Lecture

Thursday, January 27
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Announcements v
- Lecture W3 released (SLL) Ve

- Assignment 1 (requiring SLL) to be released onlMonday. l
- Plan of Returning In-Person (starting Feb. 14) '

+ Unchanged
* Pre-recorded lectures
* Zoom Weekly Q&A and Office hours in the first instance
* Online Programming & Written tests in the first instance
+ Changed
* In-Person Exam
+ To be determined:
* Some (programming and/or written) tests may be in-person,
in which case you'll be notified at least one week in advance.
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void selectionSort(int[] a, int n)
for (int 1 —@ i1 <=ln - 2); 1 ++) ‘/
int minIndex = 1i; O(
O T 1. (n+ @D+ - 12)
if (alj] < alminIndex]) { minIndex = 7; } O(l)
int temp = alil; CVI‘I'ZZM ,>
al[i] = alminIndex]; 0(‘)
a[minIndex] = temp;
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Tracing Recursive Calls
via Call Stack
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public int climb(int h, int n) {
ifth < @) {
return 0;

}

else ifCth == 0) {
return 1;

}

else {

int possible = 0;
for(int i =1; i <=n; 1 ++) {
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return possible;
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Problem on Recursion: S’rra’reqnes for Climbing Staircase

You are asked to program this —l‘ hod:

public HashSet<ArrayList<Integer>> climbStrategies(int h, int n)

The return value enumerates the set of all possible ways
for climbing a stair of height h, while each climb is up to n steps.
Assumptions: n < h, each climb takes at least 1 step

e.g., climbStrategies(4, 2) returns the following set enumerating the 5 ways
for climbing a stair of height 4 and each climb takes up to 2 steps.
{11,1, [l,2.2]
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Sketching climbStrateqies(4, 2)

hash <ot (Solutmn 26
{ 3 CAplwb (2L, 2D

M £ 9/ K

*“WY‘{ thb(3,2) N‘M ol e (2,2

J EI.:L)?/ ?{Zﬁ%ﬁf l/ Y/

b2 trbll,D)  [eRb02)

/ \Emz]/ \ / \

thabll D), L0 Z}M el (1,2) [0+H0:3) o .2

1/ \z =
Cl,
dmI:(/O,z, club(lz)w lz] e




Lreries
[ i\wlg _v% AN
W altevotzes
L; 'ﬁzf df%m{' A ej
dm&%m‘ﬁ‘(’f( 0,3

;J’ee Lhats retanrt é/#m
L oot ofeit oupuc i it




